Potencias de 10 (E)

Calcule los siguientes productos y cocientes.

4,117 x 100

6,414 x 1000

6,281 x 10

7,063 x 100

7,479 x 1000

1,754 + 1000

6,667 <1000

9,108 =100

0,831 x 1000

2,891 +1000

4,804 = 1000

5,533 x 10

4,39 x 1000

4,108 = 1000

4,612 x 10

4,667 = 10

1,85-+100

4,256 x 1000

5,527 + 1000

5,189 +100
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Potencias de 10 (E) Respuestas

Calcule los siguientes productos y cocientes.

4,117 x 100
411,7

6,414 x 1000
6.414

6,281 x 10
62,81

7,063 x 100
706,3
7,479 x 1000
7.479
1,754 = 1000
0,001754
6,667 = 1000
0,006667
9,108 = 100
0,09108

0,831 x 1000
831
2,891 +1000
0,002891

4,804 = 1000
0,004804

5,533 x 10
55,33
4,39 x 1000
4.390
4,108 = 1000
0,004108

4,612 x 10
46,12
4,667+ 10
0,4667
1,85=100
0,0185
4,256 x 1000
4.256
5,527 -+1000
0,005527
5,189 =100
0,05189
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